
FAQs 

1. Find the moment of resistance of the flanged beam when x ≤ Df 

a. Total compressive force Cu = 0.36fckxubf + Asc (fsc – fcc) 

b. Total tensile force Tu = 0.87fyAst 

c. To find Neutral Axis xu 

@ N.A Cu = Tu 

0.36fckxubf + Asc (fsc – fcc) = 0.87fyAst 

d. Ultimate moment of resistance (Mu) 

  Mu  = Tu x z 

     = 0.87fyAst1(d-o.416xu) + 0.87fyAst2 (d - d’) 

  Mu  = Cu x z 

 Mu  = 0.36fckxubf (d-0.416xu) + Asc (fsc – fcc) (d - d’) 

 

2. Find the moment of resistance of the flanged beam when x > Df and 0.43Xu ≥ Df 

a. Total compressive force Cu = 0.36fckxubw + Asc (fsc – fcc) + 0.446fckDf 

(bf-bw) 

b. Total tensile force Tu = 0.87fyAst 

c. To find Neutral Axis xu 

@ N.A Cu = Tu 

0.36fckxubw + Asc (fsc – fcc) + 0.446fckDf (bf-bw) = 0.87fyAst 

d. Ultimate moment of resistance (Mu) 

Mu = Tuw x z1 + Tu1 x z2 + Tuf x z3 

       = 0.87fyAstw(d-o.416xu) + 0.87fyAst2 (d-d1) + 0.87fyAstf (d-Df/2) 

Mu = Cuw x z1 + Cu1 x z2 + Cuf x z3  

              = 0.36fckxubw (d-0.416xu) + Asc (fsc – fcc) (d-d1) + 0.446fckDf (bf-bw) (d-Df/2) 

 

3. Find the moment of resistance of the flanged beam when x > Df and 0.43Xu < Df 

a. Total compressive force Cu = 0.36fckxubw + Asc (fsc – fcc) + 0.446fckYf 

(bf-bw) 

b. Total tensile force Tu = 0.87fyAst 

c. To find Neutral Axis xu 

@ N.A Cu = Tu 

0.36fckxubw + Asc (fsc – fcc) + 0.446fckYf (bf-bw) = 0.87fyAst 

  where,   Yf = (0.15xu + 0.65Df) < Df 



d. Ultimate moment of resistance (Mu) 

Mu = Tuw x z1 + Tu1 x z2 + Tuf x z3  

       = 0.87fyAstw(d-0.416xu) + 0.87fyAst2 (d-d1) + 0.87fyAstf (d-Yf/2) 

Mu = Cuw x z1 + Cu1 x z2 + Cuf x z3  

                   = 0.36fckxubw (d-0.416xu) + Asc (fsc – fcc) (d-d1) + 0.446fckYf (bf-bw) (d-Yf/2) 

 


